



## GOVT. OF JAMMU AND KASHMIR

## OFFICE OF THE DISTRICT SUPERINTENDING ENGINEER

## HYDRAULIC CIRCLE KUPWARA -- HEADQUARTER HANDWARA

Fax/Phone:01955262005 \*\*\*\*\*\*\*\*\*\*\*\*\* email:sehydkupwara@gmail.com

CONTRACTOR'S NAME: MR.BILAL AHMAD DAR.

S/O: GHULAM NABI DAR. R/O: AWOORA KUPWARA.

Registration No: CE/UEED/AAY/04/Civil/sanitary) 2017-18.

GSTIN NO: 01BCXPD9754J174 ALLOTMENT ORDER NO: ........DSE/HH/DB OF 2022-23 DT: 04/05/2023

Sub: Construction of 5.00 Lakh Gallons Underground Reinforced Cement Concrete (RCC) Service Reservoir at Wayan, 2 No. Sluice Chambers, Chain Link Fencing Around Structures and Approach Road for 100 % FHTC under JJM for WSS Regional Kupwara

Ref: -

1.Minutes of the 8th meeting of Technical Appraisal Committee held on 08.02.2022, minutes

issued thereof vide CE/PHE/DB/44620-41 dated. 12.03.2022. 2. Accord of Administrative Approval vide Chief Engineer Kashmir PHE Deptt. Srinagar's Order No.

CE/PHE/DB/IJM/348 of 02/2023 dated. 21.02.2023 3. Revised District Action Plan of District Kupwara by DJJM vide No. DDCK/Pig/JJM/12709-20 dated. 03.02.2023

4. Govt. Order No. 19-JK (JSD) of 2022 dated. 04.02.2022

5. Technical Sanction Order No. CE/PHE/DB/842 of 02/2023 dated. 23.02.20232.

6.District Development Commissioner Kupwara's Authorization No. DDCK/Plg/JJM/MoM

7. Chief Engineers office circular issued vide Hos- 35082-117, Dti-16-12-2022.
Advertised cost: - Rs: 221.92 LACS

Allotted cost: -Rs: 215.07 LACS

(Rupees Two Crores Fifteen Lacs & Seven thousand Rupees Only)

For and on behalf of the Lt. Governor of Jammu and Kashmir UT, contract for Construction of 5.00 Lakh Gallons Underground Reinforced Cement Concrete (RCC) Service Reservoir at Wayan, 2 No. Sluice Chambers, Chain Link Fencing Around Structures and Approach Road for 100 % FHTC under JJM for WSS Regional Kupwara (IJM) is hereby fixed with you on the accepted rates by you as shown in the enclosed Annexure of this allotment. The total cost of the work will be of the order of Rs. 215.07 LACS (Rupees Two crores Fifteen Lacs & seven thousand Rupees Only) on the terms and conditions as laid down in E- NIT No:58 Of 03/2022 issued under endorsement No PHEDK/6722-33 Dt. 18/03/2023 from the Executive Engineer PHE Division Kupwara shall be binding on the contractor

S.No	Item Description	Quantity	Units	Rate	Amount
1	Earth work in bulk excavation by mechanical means (hydraulic excavator) over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth lead upto 50 meters and lift upto 1.5 m, as directed by Engineer-in-Charge. (All kinds of soil)				
1	All kinds of Soil	5370.10	Cum	188.75	1013607.00

1

					The second second
2	Providing and laying hand packed stone soling 50 mm nominal size including filling, spreading, dressing, ramming, all leads lifts and all carriages complete.	157.30	Cum	1320	207636.00
3	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with:				
i	1:3:6 (1 cement : 3 coarse sand: 6 graded stone aggregate 20 mm nominal size)	176.00	Cum	5437.74	957042.00
	1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	44.55	Cum	6465.2	288025.00
III	1:4:8 (1 cement : 4 coarse sand : 8 graded stone aggregate 40 mm nominal size)	29.70	Cum	4861.84	144397.00
4	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level				
1	1:1½:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate 20 mm nominal size)	270.00	Cum	7800.76	2106205.00
II	1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	13.37	Cum	6978.68	93305.00
5	Reinforced cement concrete work in walls (any thickness) including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abutments, posts and struts upto floor five level including curing but excluding cost of centering shuttering, finishing and reinforcement.				
1	1:1½:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate 20 mm nominal size)	310.00	Cum	9408.14	2916523.00
6	Centering and shuttering including strutting, propping etc. and removal of form for:				
- 1	Foundations, footings, bases of columns etc. for mass concrete.	335.80	sqm	262.3	88080.00
	Walls (any thickness) including attached pilasters, buttresses, plinth and string courses etc.	1608.96	sqm	573.85	923302.00
III	Suspended floors, roofs, landings, balconies and access platforms.	493.00	sqm	635.6	313351.00
iv	Lintel, beams, plinth beams, girders, bressumers and cantilevers.	285.00	sqm	502.85	143312.00
٧	Columns, pillars, piers, abutments, posts and struts.	150.00	sqm	680.15	102022.00
vi	Edges of slabs and breaks in floors and walls	113.40	m	242.3	27477.00
7	Extra for shuttering in circular work (20% of respective centering and Shuttering items)				
1	Foundation	55.00	sqm	52.46	2885.00

TO





		950.00	sqm	114.77	109031.00
ii	Walls		sqm	100.57	28662.00
iii	Beams	285.00	aqm	200.0	
N	Suspended floors	485,00	sqm	127.12	61653.00
8	Providing and mixing water proofing material in cement concrete work in doses by weight of cement as per manufacturer's specification. (1 kg of water proofing material in 50 kg of cement)	5087.00	kgs	57.9	294537.00
9	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete approved make from factory/workshop to construction site including placing in position and binding all complete upto plinth level.				
i	Thermo-Mechanically Treated bars of grade Fe-500D or more.	46637.00	Kg	95.1	4435179.00
10	Structural steel work in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.welded	25296.00	Kg	111.42	2818480.00
11	12mm Cement plaster				
i	1 : 4 ( 1 cement : 4 fine sand	1806.60	sqm	286.06	516796.00
11	Providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer-incharge. (Made of G.I. wire of dia 4 mm)	642.60	sqm	733.5	471347.00
12	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade Two or more coats on new work	. 453.60	sqm	121.95	55316.00
13	Providing & fixing of MS pipes / fittings viz bends of suitable degree, tees, collars etc to be fabricated from 6mm Nominal Size MS plate as per the requirement of site including cost of welding. The work should be leakproof and should be painted with anti corrosive red oxide primer. Complete Job.	800.00	Kg	147.82	118256.00
14	Providing & fixing of 0.63mm thick PGI sheets at construction joints including all leads and lifts complete job as directed by Engineer-in-charge	200.00	Sqm	800	160000.00

INHD

TO

女

DSE

- 8		Providing color coated track deck sheet				
	15	roofing fixed with polymer-coated J or L hooks, bolts, overlapping of sheets complete(upto a pitch of 60 degrees) excluding cost of purlins, rafters and trusses all carriages complete job	260.00	sqm	1250	325000.000
	16	Providing ridges or hips of width 60cm overall width plain G.S. sheetsfixed with polymer coated J. or L hooks, bolts and nuts 8mm dia G.I.limpet and bitumen washers complete 0.80 mm thick with zinc coating not less than 275 gram/m2	115.00	metre	762.45	87682.00
	17	Providing and fitting of 0.80 mm thick coloured CR sheets in soffit and eaves boarding and necessary frame work of 35 x 35 x 5 mm angle iron and 35 x 5 mm flats	50.00	Sqm	7968	398400.00
	18	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia and length (hold fast lugs or with dash fasteners shall be paid for separately): Second Class Kail Wood	0.70	Cum	92065.3	64446.00
	19	Providing and fixing 35 mmwire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows, and clerestory windows with ISI marked M.S. pressed but hinges bright finished with necessary screws as per direction of Engineer-incharge Second class Kail wood	15.00	Sqm	3307.8	49617.00
	20	Providing and fixing hand rail of approved size by welding etc. to steel ladder railing, balcony railing, staircase railing and similar works, including applying priming coat of approved steel primer.	500.00	Kg	176.25	88125.00
	21	Supply and placing of hand packed boulders of appropraiate gradation and size in between earth face walls and surrounding soil of SR for 0.60 m width in plan	160.00	Cum	800	128000.00
	22	Preparation of subgrade by excavating earth to an average of 22.5 cm depth, dressing to camber and consolidation with road roller of 8-12 tonne capacity including making good the undulation etc. and disposal of surplus earth upto 50 meters.	1500.00	SQm	139.4	209100.00
	23	Dismantling C.I./DI pipes manually/ by mechanical means breaking lead caulked joints, melting of lead and making into blocks including stacking of pipes and lead at site within 50 meter lead as per direction of Engineerincharge. Including excavation and refilling trenches after taking out the pipes. (Upto 150 mm diameter.)	5000.00	Mtrs	282.75	1413750.00
	24	Supplying and stacking at site excluding carriage				
	1	Graded crushed stone aggregate of size 63 mm - 45 mm	103.95	Cum	564.6	58690.00

TO

DSE

~ ∜HD

Ti ii	Graded stone aggregate atsite of size range 53mm- 22.4mm	. 103	95	Cum	575.3	59802.00	
T ill	Stone Screening of 13.2 mm nominal size	15.		Cum	504.4	7763.00	
iv	Stone Screening of 11.2 mm nominal size	22.23		Cum	504.4	11213.00	
v	Stone Dust	9.60		Cum	258.25	2479.00	
25	Carriage of materials by mechanical transport including loading, unloading, stacking of materials	5/0		Cum	230.23	2410,00	
1	Soling by 10 km	157.30		Cum	330.42	51975.00	
II	Stone Aggregate by 20 km	996.34		Cum	402.29	400818.00	
III	Sand by 40 km	415.06		Cum	601.01	249455.00	
iv	Cement by 10 km	299.14		MT	249.65	74680.00	
v	TMT Steel by 10 km	46.64		MT	249.65	11644.00	
26	Carriage of 150mm dia Di pipes by Mechanical Transport from Dumping site upto working site including, loading, unloading and stacking for 10Kms.	5000.00		Mtrs	8.9	44500.00	
27	Carriage of materials by Manual Labours including, loading, unloading and stacking for 500Mtrs.	5000.00		Mtrs	11.78	58900.00	
TOTAL IN FIGURES					Rs.2	22192465.00	
Deduc	Deduct ( 3.09% ) on all above Items			(-3.09%) (Minus three point zero nine percent)		Rs.685747.00(-)	
GRAN	D TOTAL				Rs.2	1506719.00	

Head

District Superintending Engineer

A Terms and Conditions: -

The contractor shall draw agreement with the Superintending Engineer Hyd. Circle Kupwara H.Q. Handwara within 07 days from the date of issue of allotment order and failing to execute such an agreement in time shall not however prevent this contract being enforced against the contractor and the conditions laid down in the NIT shall hold good even before drawl of formal agreement.

DSE

The work shall have to be executed strictly in accordance with the approved proposals and specifications of work shall be reckoned from 07 days after issuance of allotment.

the date of start of the executing agency/ contractor to ensure safe and adequate supply of electricity required for all the workmen skilled/ unskilled deployed at site of work. electricity requirements for supply of portable water at site of work for all the workmen skilled/

suitable the made by the agency/ contractor just before the virtual start of execution at site. Arrangements for sufficient sanitation facility at site be ensured by the execution at site.

Arrangement of the workmen to be mobilized at site besides, separate toilet facilities be provided

Insurance cover as admissible under rules shall be provided to all workers/ skilled/unskilled deployed at site and the necessary premiums shall be borne by the executing agency/ contractor

Payments are subject to the recommendation of the third party verification agency (M/s. WAPCOS

g. Time of completion

The works shall be completed within a period of (150 Working Days) after the date of issue of allotment. In the event of the contractor failing / declining / neglecting / delay in the execution of the work, penalty to the extent of 10% of the allotted amount shall be imposed on the contractor and the work shall be got executed departmentally or through any other agency at the risk and extra cost of the above contractor. Besides action under rules for black listing of the contractor shall be taken up by the Department.

C. Performance Security

Performance security equivalent 03% of the value of the contract Rs.665760/- has been furnished by the Contractor in shape of BGR vide B.G No.: 005 KMCB, dt: 15-04-2023 of Kashmir Mercantile Co-Op bank Ltd. shall be retained in the Office till successful completion of the above work after the expiry of the defect liability period.

D. Advance payment

No mobilization advance or advance payment shall be made to the allottee (contractor).

D. General

All other conditions as laid down in E- NIT No:58 of 03/ 2022 issued under endorsement No PHEDK/6722-33 Dt. 18/03/2023 from Executive Engineer PHE Division Kupwara shall be binding on the

No: DSE/HH/DB/\_344-46

District Superintending Engineer, Hydraulic Circle Kupwars

HQ Handwara

Copy to the: -

Chief Engineer Kashmir PHE Department Srinagar for favour of information.

District Development Commissioner (Chairman DJJM) Kupwara for favour of information.

3. District Nodal Officer WAPCOS Ltd. (Distt. Kupwara) for information.

Executive Engineer PHE Division Kupwara for information and necessary action.

Head Draftsman Circle Office Handwara.

Office Copy.